
Tabelle 18

Beispiel Metallbau

1997 1998 1999 2000 2001

Gewinn-/Verlustrechnung TDM DM/1oo TDM DM/1oo TDM DM/1oo TDM DM/1oo TDM DM/1oo

Leistung 1622 100 1699 100 1691 100 1898 100 1674 100

Rohüberschuß/Wertsch. 943 58 991 58 919 54 1032 54 972 58

----------------- ----------------- ----------------- ----------------- ----------------- ----------------- ----------------- ----------------- ----------------- -----------------

Wertschöpfung 943 100 991 100 919 100 1032 100 972 100

Personalkosten -654 -69 -626 -63 -588 -64 -629 -61 -713 -73

Sachkosten -234 -25 -229 -23 -232 -25 -232 -22 -227 -23

Abschreibungen -58 -6 -109 -11 -113 -12 -100 -10 -94 -10

Zinsaufwand -24 -3 -25 -3 -12 -1 -10 -1 -11 -1

Sonst. Aufwand/Ertrag 2 0 2 0 3 0 3 0 -2 0

----------------- ----------------- ----------------- ----------------- ----------------- ----------------- ----------------- ----------------- ----------------- -----------------

Ergebnis vor Steuer -25 -3 4 0 -23 -3 64 6 -75 -8


